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[1.0 marks

Zl.......and the phase angle betwedn ((J,

Vandi is lnplase..and average power is.... L2 ¥ ...and 02i5.0. [2.D marks]
N r
As Pf reaches zero level, the l0ad reaches.........Ch Gmo) C\a  g2.90 [1.0 marks]
(C) If v leads i by 90 degree in series single element cct, the Impedance [1.0 marks]
PE_’.L._.(D) If the Load power factor is 1, this means cct is R, Cos&z/ @z-0 [é.o marks])
ie (E) XL=0 atfrequencys~= ... O... & when X¢ > XL in series cct maans It t [1.0 marks]
- . .
;—P_(F) At what angle is =_\_I_D, The angle between IL and Ic in parallel is \&2... (1.0 marks]
o . 1 — ]
v i " . d . - VC
(g) Phasor diagram shown is representing {2 W\ Circuit and the re
value of OL is NbO~ U6 - /35 [1.0 marks] 4 < s
? &J
T psvl v,
Q2.
(@1(f)= 8 sin (1000t+15) v and@2(tDhas RMS value of 5.66 v 1z
. and leads e1(t) by 60 degree, if the current in the circuit is b
given by i(t) = 2 cos (1000t-135) find N
A) Nature and value of the single element load Z [6.0 marks] e1(l) e2(t)
b) Power dissipated in the circuit and pf [2.0 marks] i i
[C) Draw phasors diagrams [2.0 marks] i
Q3. B : AsA
D4 ( |§l - Fe>x|

In the cct shown E=1000 v and the current i1 lead E where E is
reference signal =

i1 (t) = 158.1 cos (1000t+26.2) A [2.0 marks]

i3 (t) = 100 sin (1000t +135) A find

100
? la 8z-
in 3 & i
+ Js
(= 6) 73 Zb

A) The phase between E and i2 [4.0 marks]
b) The nature and values of Za and Zb [6.0 marks] Za Zb are single
elements
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